GOVERNMENT - PRICE QUOTATION



REDMARK TECHNOLOGIES GOVERNMENT AT CARAHSOFT

11493 SUNSET HILLS ROAD | SUITE 100 | RESTON, VIRGINIA 20190 PHONE (703) 871-8500 | FAX (703) 871-8505 | TOLL FREE (888) 66CARAH WWW.CARAHSOFT.COM



(703) 871-8505

TO: Bryan Zumwalt

Chief Technology Officer - Director, Office of Technology and

Pinellas County Business Technology Services

400 S Fort Harrison Ave Clearwater, FL 33756-5113 USA

EMAIL: bzumwalt@pinellas.gov

PHONE: (727) 464-4759

PART NO.

TERMS:

LINE NO.

GSA Schedule No: 47QSWA18D008F

Term: August 22, 2018 - August 21, 2028

DESCRIPTION

FTIN: 52-2189693

Shipping Point: FOB Destination Credit Cards: VISA/MasterCard/AMEX

Remit To: Same as Above Cage Code: 1P3C5 DUNS No: 088365767 UEI: DT8KJHZXVJH5

Business Size: Other than Small

FROM: Casey Oesterle

Carahsoft Technology Corp. 11493 Sunset Hills Road Reston, Virginia 20190

EMAIL: Casey.Oesterle@carahsoft.com

PHONE: (571) 662-3010

FAX:

38674865

QUOTE DATE: 06/09/2023 **QUOTE EXPIRES:** 07/09/2023

RFQ NO: **SHIPPING: TOTAL PRICE:**

QUOTE NO:

ESD

\$272,792.52

TOTAL QUOTE:

\$272,792.52 **QUOTE PRICE EXTENDED PRICE**

1	CON-CE-611	Consulting Engineer (Per Hour) Interfaces Carahsoft Technology Corporation - CON-CE	\$211.96	GSA	90	\$19,076.40
2	CON-CE-611	Consulting Engineer (Per Hour) Data Conversion Carahsoft Technology Corporation - CON-CE	\$211.96	GSA	170	\$36,033.20
3	CON-CE-611	Consulting Engineer (Per Hour) Scripts Carahsoft Technology Corporation - CON-CE	\$211.96	GSA	464	\$98,349.44
4	CON-CE-611	Consulting Engineer (Per Hour) Reports Carahsoft Technology Corporation - CON-CE	\$211.96	GSA	446	\$94,534.16
5	CON-CE-611	Consulting Engineer (Per Hour) Contingency Carahsoft Technology Corporation - CON-CE	\$211.96	GSA	117	\$24,799.32
		SUBTOTAL:				\$272,792.52

TOTAL PRICE:

\$272,792.52

TOTAL QUOTE:

\$272,792.52

QUOTE DATE: QUOTE NO:

06/09/2023 38674865

AMENDMENT NO. 5 To Contract Purchase Agreement Between Pinellas County And Carahsoft Technology Corporation

This is Amendment No. 5 to the Contract Purchase Agreement between Pinellas County ("buyer") and Carahsoft Technology Corporation ("Seller").

WHEREAS, Seller and Buyer have entered in to the Agreement dated September 30, 2019,

And

WHEREAS, Seller and Buyer desire to amend said Agreement to add additional professional services to the Statement of Work dated September 30, 2019. Version 1.3.

THEREFORE, Seller and Buyer hereby agree as follows:

1) Redmark Technologies will be the subcontractor for the Construction Licensing Board project as described in the Statement of Work dated September 30, 2019, version 1.3:

Number of Hours	\$Per Hour Rate	Total
1,287	\$ 211.96	\$272,792.52

Task Summary	Cost
Additional Interface	\$19,076.40
Additional Data Conversion Runs	\$36,033.20
Additional Scripting	\$98,349.44
Additional Reports	\$94,534.16
Contingency	\$24,799.32
Professional Services	\$ 272,792.52
TOTAL	\$ 272,792.52

2) Pinellas County agrees to the same terms and conditions as stated on the master agreement with Carahsoft Technology dated 2/21/17, version 1.7.6.

IN WITNESS THEREOF, the parties have caused this Amendment to be executed by their duly authorized representatives.

BUYER	SELLER
Sign:	_ Sign: <i>This Doubles</i>
Print:	Print: Ellie Doubles
Title:	Title: Service Contract Specialist
Date:	Date: 06/15/2023

APPROVED AS TO FORM

By: Keiah Townsend
Office of the County Attorney

carahsoft.



PINELLAS COUNTY, FL PCCLB EXPANDED SCOPE – CHANGE ORDER and PRICE QUOTE (V 1.0)

April 12, 2023

Pinellas County Attn: Bryan Zumwalt 400 S. Ft. Harrison Ave. Clearwater, FL 33756

Bryan,

Thank you for continuing to work with our firm on the implementation of the Accela Civic platform solution at Pinellas County. After much discussion, per the county's instructions, we have completed the process to analyze and evaluate the requests of the additional scope for requirements by the PCCLB Business Unit.

Based on our joint understanding of the information we currently have, please find below Carahsoft RedMark's proposal and level of effort for the expanded scope of the PCCLB project.

Task	Cost	Description/Comments
Additional Interface	\$19,076.40	Expired Permits Interface. This addresses the need for
		PCCLB to automatically create records in Accela from lists
		received from municipalities showing expired permits.
Additional Data	\$36,033.20	Additional 3 runs of data conversion above the 3 included
Conversion Runs		in the original SOW.
Additional Scripting	\$98,349.44	Additional scripting effort required by PCCLB in vetted and
		prioritized script list.
Additional Reports	\$94,534.16	Effort to complete additional reports identified as required
		by the business unit.
Contingency	\$24,799.32	Contingency
Grand Total	\$272,792.52	

Quote Adjustments

If changes are necessary to the above noted assumptions, or if the business requirements have changed, this quote may be adjusted after discussing and documenting the new/modified requirements.

Project Duration

This quote assumes a go-live of this project within this year (2023). This assumes the availability of resources within the business unit critical to the completion of project tasks. Final duration will be jointly decided with the county.

Quote Acceptance

If quote is accepted, Carahsoft and RedMark will work with Agency define deliverables and

payment plan. This price quote is valid for 60 days after the proposal date stated above.



I will be happy to answer any questions or provid do not hesitate to contact us.	e additional information or details as necessary. Please
Thank you and best regards,	
RedMark and Carahsoft	
Signature and Acceptance	
Pinellas County	Carahsoft Technology Corp.
By:	Ellis Doubles
Print Name	Print Name Ellie Doubles
Title	Title Service Contract Specialist
Date_	Date 06/15/2023

APPROVED AS TO FORM

By: Keiah Townsend

Office of the County Attorney